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@) A body of mass 10 kg moves with simple harmonic motion. At a displacement of b) A light perfectly elastic string of natural length a and elastic constant k is fastened at
0.8 m from the centre of oscillation, the velocity and acceleration of the body are one end p to a fixed point of a smooth horizontal table, and a particle of mass m is
2 m/s and 20 m/s? respectively. _ | attached to the other end. The particle is held on the table at a distance 2a from p

‘ and then released.

Find

i) the number of oscillations per second E Prove

(i) the amplitude of motion ] @) that the particle executes simple harmonic motion while the string is taut
(iii) the maximum acceleration and hence show that the force to overcome the (i) that the particle reaches p after

inertia of the body at the extremity of the oscillation is 223.6N.
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